d m™pb/GeVA

t,had

2 )
do/de

Ratio to ATLAS

|
o
&

-
o
o

| —
o
4

[EEY

0.5

13000 GeV pp tt
L I A L I I B L R B | | 112
c
I top 10
— p (ATLAS semileptonic ttbar) =
L 1=
- — L0
B PN
- A
S
- |
\—i
o
— — é
¥ N 32
B 1<
o™
<t
o™
— . —Ho
- - Pythia 6.428 345 49
- - Pythia 6.428 346 5 §
| —A— Pythia 6.428 370 e
B Pythia 6.428 ambtl 15
----------- Pythia 6.428 z1 =
| —— Pythia 6.428 z2 18
— 2
— _] §
— -1 &
— — O
T T S R —— uk
— =2
1
—0.5
" " " " " 1 " | " 1 " " " 1 " 1
500 1000 15 0 2000

thad [GeV] mb r{t

}in [1160,3000] [GeV]



	Contents
	Page 1


